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Paper Third 

(Quantitative Methods) 

Time : Three Hours 

Maximum Marks : 100 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- js[kh; dk;ZØe ls D;k vk’k; gS \ vf/kdrehdj.k leL;k dk 
lek/kku T;kferh; fof/k ls dhft,A 20 
What do you mean by Linear Programming ? Explain 

Maximisation problem with the help of geometric 

method. 

vFkokvFkokvFkokvFkok    
(Or) 

mRiknu Qyu ls D;k vk’k; gS \ dkWc&Mxyl mRiknu Qyu 
dks le>kb,A  20 
What do you mean by Production Function ? Explain 

Cobb-Douglas Production Function. 
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bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- izrhixeu rFkk lglEcU/k dk vFkZ fyf[k, rFkk vkfFkZd 
fo’ys”k.k esa mudh mi;ksfxrk crkb,A 20 

Write the meaning of correlation and regression and 

explain their utility in Economic Analysis. 

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr vk¡dM+ksa ls nksuksa izrhixeu lehdj.k Kkr dhft, % 
20 

x y 

1 

2 

3 

4 

5 

7 

8 

10 

12 

13 

Calculate the both regression equations from the 

following data : 

x y 

1 

2 

3 

4 

5 

7 

8 

10 

12 

13 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- ¼v½ xq.k&lEcU/k dk D;k vFkZ gS \ lEiw.kZ rFkk vkaf’kd 
xq.k&lEcU/k esa vUrj crkb,A 8 
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What is meant by association ? Bringout the 

difference between total and partial association. 

¼c½ fuEufyf[kr vk¡dM+ksa ls lk{kjrk ,oa csjkstxkjh ds chp 
xq.k&lEcU/k dk ifjdyu dhft, % 12 

dqy Ok;Ld tula[;k 200 

lk{kj tula[;k 40 

csjkstxkj tula[;k 12 

lk{kj ,oa csjkstxkj tula[;k 4 

From the following data, calculate the coefficient of 

association between literacy and unemployment : 

Total adult population 200 

Literate population 40 

Unemployed population 12 

Literate and unemployed population 4 

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr vk¡dM+ksa ds vk/kkj ij 28 o”kZ dh vk;q ds fy, 
U;wVu dh izxkeh vUrj jhfr }kjk y dk eku Kkr dhft, % 20 

vk;q y dk eku 

25 

30 

35 

40 

45 

50 

23 

26 

30 

35 

42 

51 
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From the following data, estimate the value of y for the 

age 28 by Newton’s method of Advancing Differences : 

Age Value of y 

25 

30 

35 

40 

45 

50 

23 

26 

30 

35 

42 

51 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- dky Js.kh leadksa ls vki D;k le>rs gSa \ dky Js.kh leadksa ds 

la?kVd rRo dkSu&dkSu ls gSa \ O;k[;k dhft,A 20 

What do you understand by Time Series Data ? What are 

the components of time series data ? Discuss. 

vFkokvFkokvFkokvFkok    

(Or) 

¼v½ le; mRØkE;rk ijh{k.k rFkk rRo mRØkE;rk ijh{k.k fdls 

dgrs gSa \ le>kb,A 8 

What are Time Reversal test and Factor Reversal 

test ? Describe. 
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¼c½ fuEufyf[kr vk¡dM+ksa ls rhu o”khZ; py ek/; Kkr dhft, %  
    12 

o”kZ mRiknu 

1981 

1982 

1983 

1984 

1985 

1986 

1987 

1988 

1989 

1990 

110 

104 

98 

105 

110 

120 

115 

110 

114 

125 

Calculate the three yearly moving average from the 

following data : 

Year Production 

1981 

1982 

1983 

1984 

1985 

1986 

1987 

1988 

1989 

1990 

110 

104 

98 

105 

110 

120 

115 

110 

114 

125 
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bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- lax.kuk ,oa izfrp;u vuqla/kku esa vUrj dhft, vkSj buds 

xq.k&nks”kksa dh laf{kIr foospuk dhft,A 20 

Distinguish between a census and sampling investigation 

and briefly discuss their merits and demerits. 

vFkokvFkokvFkokvFkok    

(Or) 

,d lexz ls 10 O;fDr ;kn`fPNd :i ls pqus x;sA mudh 

Å¡pkb;k¡ bapksa esa gSa % 20 

63, 63, 66, 57, 68, 69, 70, 70, 71, 71 

bu vk¡dM+ksa dh lgk;rk ls bl lq>ko dh] fd lexz esa vkSlr 

Å¡pkbZ 66 bap gS] Kkr dhft,A 

Note : Table value of ‘t’ for d. f. = 09, t.05 = 2.262. 

Ten individuals are chosen at random from a universe 

(population) and their heights are found to be in inches : 

63, 63, 66, 57, 68, 69, 70, 70, 71, 71 

In the light of these data, find the suggestion that the 

mean height in the universe is 66 inches. 

Note : Table value of ‘t’ for d. f. = 09, t.05 = 2.262. 
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